GR 2 U5 L18 S1  
Using the Traditional Addition Algorithm III
 KEY
Do the following additions.  Show your thinking.

	100s
	Tens
	Ones

	
	6
4
	3

5

	1
	0
	5


1.

	100s
	Tens
	Ones

	5
2
	6
0
	3

5

	7
	6
	8


3.
       

	100s
	Tens
	Ones

	2

6
	8
5
	6
1

	9
	3
	7


5.
	100s
	Tens
	Ones

	
	1

8
4
	7
9

	 1
	3
	6


     2.
    
	100s
	Tens
	Ones

	3
4
	1

2
3
	7
6

	7
	6
	3


     4.
   
	100s
	Tens
	Ones

	1

3
 
	8
7
	2
4

	4
	5
	6


     6.
  
	100s
	Tens
	Ones

	1

5
1
	9
4
	3

5

	7
	3
	8


	100s
	Tens
	Ones

	1

3
5
	1

6
6
	4
7

	 9
	3
	1


7.

           8.
	100s
	Tens
	Ones

	1

1
4
	1

7
2
	3

9

	6
	0
	2


	100s
	Tens
	Ones

	1

3
2
	7
8
	0
6

	6
	5
	6


9.

   10.

	100s
	Tens
	Ones

	1
6
	4

5
	3

9

	8
	0
	2


Challenge: Fill in the blanks to make

a correct addition problem.

